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TNPSC GROUP I test batch – 2020 
TEST XI – CURRENT AFFAIRS (September 2020) AND APTITUDE 

AND MENAL ABILITY 
 

1. The oldest memorial stone pillar which was recently identified in Tamilnadu was found at 
a. Alagiyamanavalam Village, Tiruchirappali District 
b. Ariyanayagipuram Village, Tuticorin District 
c. Ittamozhi Village, Tirunelveli District 
d. Kinnimangalam Village, Madurai District 
jkpo;ehl;by; rkPgj;jpy; kpfg; goikahd epidT fy;J}z; fz;Lgpbf;fg;gl;l ,lk;  
a. mofpakztsk; fpuhkk;> jpUr;rpuhg;gs;sp khtl;lk; 
b. mupaehafpGuk; fpuhkk;> J}j;Jf;Fb khtl;lk; 
c. ,l;lhnkhop fpuhkk;> jpUney;Ntyp khtl;lk; 
d. fpz;zpkq;fsk; fpuhkk;> kJiu khtl;lk; 

 
2. The “Pathinenkilkanakku Noolgal” or Eighteen minor texts has been recently translated 

into 
a. Chinese and Japan   b. Latin and French 
c. German and English   d. French and German 
rkPgj;jpy; ‘gjpndd;fPo;fzf;F E}y;fs;’ ve;nje;j may;ehl;L nkhopfspy; 
nkhopngau;f;fg;gl;Ls;sJ.  
a. rPd kw;Wk; [g;ghd;   b. yj;jPd; kw;Wk; gpnuQ;r; 
c. n[u;kd; kw;Wk; Mq;fpyk;  d. gpnuQ;r; kw;Wk; n[u;kd; 

 
3. The National Water Development Agency of the Union Jal Shakti minnistry have submitted 

a detailed Project Report for implementry the connecting of 
a. Cauvery – Vaigai – Palar River  b. Noyyal – Bhavani – Gundar 
c. Cauvery – Vaigai – Gundar  d. South Pennar – Moyar – Cauvery 
kj;jpa [y;rf;jp mikr;rfj;jpd; Njrpa ePu;ts Nkk;ghl;L Kifik vt;tpj MWfis 
,izg;gjw;fhf xU tpupthd jpl;l mwpf;ifia rku;g;gpj;Js;sJ. 
a. fhNtup-itif-ghyhW   b. neha;ay;-gthdp-Fz;lhW 
c. fhNtup-itif-Fz;lhW   d. njd;ngz;iz-nkha;ahW-fhNtup 
 

4. The Forest Department of Tamilnadu has recently initiated the census of lion-tailed 
macaques at 
a. Kalakad Mundanthurai Tiger Reserve  b. Mudumalai Tiger Reserve 
c. Anamalai Tiger Reserve    d. Sathyamangalam Tiger Reserve 
jkpo;ehl;bd; tdj;Jiw rkPgj;jpy; Nrhiyke;jp fzf;nfLg;igj; njhlq;fpa ,lk; 
a. fsf;fhL Kz;le;Jiu Gypg; ghJfhg;gfk; b. KJkiy Gypg; ghJfhg;gfk; 
c. Midkiy Gypg; ghJfhg;gfk;   d. rj;jpakq;fyk; Gypg; ghJfhg;gfk; 
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5. Consider the following statements. 
I. Recently Tamilnadu Government introduced three new IT Policies on Artificial 

Intelligence, Blockchain and Cybersecurity aimed at addressing the emerging growth 
areas in IT Industry and e-governance 

II. Nicknamed as ABC Policies and its first of its kind in the country. 
a. I only correct   b. II only correct 
c. Both are correct   d. None of the above 
gpd;tUk; $w;Wf;fis fUJf. 
I. jfty; njhopy;El;gj; Jiw kw;Wk; kpd;dZ MSifapy; tsu;e;J tUk; fsq;fis 

fUj;jpy; nfhz;L nraw;if Ez;zwpT> ek;gpf;if ,iza nfhs;if kw;Wk; ,iza 
ghJfhg;G Mfpait kPjhd %d;W Gjpa jfty; njhopy;El;gf; nfhs;iffis jkpo;ehL 
murhq;fk; rkPgj;jpy; mwpKfg;gLj;jpAs;sJ. 

II. ,e;jpahtpy; Kjd;Kiwahf jkpofj;jpy; ABC vDk; ,f;nfhs;if 
mwpKfg;gLj;jg;gl;Ls;sJ 

a. I kl;Lk; rup    b. II kl;Lk; rup 
c. ,uz;Lk; rup   d. Nkw;fz;l vJTkpy;iy 

 
6. The e-Shakthi Platform of NABARD has been implemented in which districts of Tamil 

Nadu? 
a. Kanchipuram, Namakkal, Virudhunagar, Madurai 
b. Kanyakumari, Tirunelveli, Tuticorin, Thenkasi 
c. Namakkal, Tiruvannamalai, Nagappattinam, Virudhunagar 
d. Namakkal, Thiruvallur, Chengalpattu, Kanchipuram 
jkpo;ehl;bd; ve;nje;j khtl;lq;fspy; eghu;L-,d; e-rf;jp mky;gLj;jg;gl;Ls;sJ. 
a. fhQ;rpGuk;> ehkf;fy;> tpUJefu; kw;Wk; kJiu 
b. fd;dpahFkup> jpUney;Ntyp> J}j;Jf;Fb kw;Wk; njd;fhrp 
c. ehkf;fy;> jpUtz;zhkiy> ehfg;gl;bdk; kw;Wk; tpUJefu; 
d. ehkf;fy;> jpUts;@u;> nrq;fy;gl;L> fhQ;rpGuk; 

 
7. In Tamil Nadu the state of art indigenous weather Radar is to be installed at 

a. Indian Maritime University 
b. National institute of Ocean Technology 
c. Central Institute of Brackish water Aquaculture 
d. None of the above 
jkpo;ehl;by; cs;ehl;L fhyepiy Nulhu; epWtg;glTs;s ,lk; 
a. ,e;jpa fly;rhu; gy;fiyf;fofk; 
b. Njrpa fly;rhh; njhopy;El;g epWtdk; 
c. cg;GePu; kPd; tsu;g;gpd; kj;jpa epWtdk; 
d. Nkw;fz;l vJTkpy;iy 

 
8. Which Tamil Literary Work was in recent times translated by Prof. A. Jahir Hussain of 

Madras University into Arabic? 
a. Ettuthokai  b. Pathuppattu  c. Tolkappiyam d. Thirukkural 
nrd;idg; gy;fiyf; fofj;jpd; Kidth; A. [h`ph; cNrd; rkPgj;jpy; muG nkhopapy; 
nkhopngau;j;j jkpo; ,yf;fpak; vJ? 
a. vl;Lj;njhif b. gj;Jg;ghl;L   c. njhy;fhg;gpak; d. jpUf;Fws; 

 
9. The “Poshah Sarkar” Program which ensures Nutrition Campaign through Local Bodies 

was launched in the state of 
a. Madhya Pradesh  b Uttar Pradesh c. Andhra Pradesh  d. Gujarat 
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cs;shl;rp mikg;Gfs; %ykhf rj;JzT ,af;fj;ij cWjp nra;Ak; ‘Ngh~h ru;fhu;’ jpl;lk; 
njhlq;fg;gl;l khepyk;  
a. kj;jpag;gpuNjrk;    b. cj;jpug;gpuNjrk; 
c. Me;jpug;gpuNjrk;   d. F[uhj; 

 
10. The recent Bio-diversity council constituted under Biological Diversity Act, 2002 was 

established in the Union Territory of 
a. Pondicherry b. Lakshadeep  c. Jammu and Kashmir  d. Delhi 
capupay; gd;Kfj;jd;ikr; rl;lk;-2002,d; fPo; rkPgj;jpy; capupg; gd;Kfj;jd;ikf; fTd;rpy; 
mikf;fg;gl;Ls;s A+dpad; gpuNjrk; 
a. ghz;br;Nrup  b. yl;rj;jPTfs;  c. [k;K kw;Wk; fh~;kPu;  d. nly;yp 

 
11. The Cannabis Medicine Project in collaboration with Canada is to be established at  

a. Bihar b. Sikkim  c. Jammu and Kashmir  d. Rajasthan 
fdlhTldhd xj;Jiog;gpy; fQ;rh kUe;Jj; jpl;lk; Vw;gLj;jg;glTs;s ,lk; 
a. gPfhu; b. rpf;fpk;  c. [k;K kw;Wk; fh~;kPu;  d. uh[];jhd; 

  
12. India’s “Largest Piggery Mission” was launched at 

a. Meghalya  b. Mizoram  c. Sikkim  d. Arunachal Pradesh  
,e;jpahtpd; kpfg;ngupa gd;wpg;gz;izj; jpl;lk; njhlq;fg;gl;Ls;s khepyk; 

 a. Nkfhyah  b. kpNrhuk;  c. rpf;fpk;   d. mUzhr;ryg;gpuNjrk; 
  
13. The “GARIMA” Social Security Scheme, which ensures safety and dignity of Sanitation 

workers was launched in the state of 
a. Odisha  b. Andhra Pradesh  c. Maharashtra  d. Rajasthan 
Jg;GuTj; njhopyhsu;fspd; ghJfhg;G kw;Wk; khz;ig epr;rapf;Fk;; “GARIMA” vd;w r%fg; 
ghJfhg;G jpl;lk; njhlq;fg;gl;l khepyk; 
a. xbrh  b. Me;jpug;gpuNjrk;  c. k`huh~;l;;buh  d. uh[];jhd; 

 
14. The under construction Chhatrapati Shivaji Museum in Agra is designed to showcasing the 

history of 
a. The Mughals b. The Marathas  c. The Sikhs  d. The Rajputs 
Mf;uhtpy; fl;lg;gLk; rj;ugjp rpth[p mUq;fhl;rpafk; tbtikf;fg;gLtJ ve;j tk;r 
tuyhw;iw ntspg;gLj;Jtjw;F 
a. Kfyhau;fs; b. kuhj;jpau;fs;  c. rPf;fpau;fs;  d. uh[Gj;jpuufs;; 

 
15. “My Family, My Responsibility” is a campaign to tackle COVID-19 of the  

a. State of Madhya Pradesh b. State of Gujarat 
c. State of Goa   d. State of Maharashtra 
COVID-19 vjpu;nfhs;tjw;F “vdJ FLk;gk;> vdJ nghWg;G” vd;w ,af;fj;ijj; njhlq;fpa 
khepyk; 
a. kj;jpag;gpuNjrk;   b. F[uhj; 
c. Nfhth    d. kfhuh~;buh 

 
16. The indigenously made microprocessor “MOUSHIK”, was developed by 

a. Indian Institute of Science    
b. Indian Institute of Information Technology  
c. National Institute of Technology 
d. Indian Institute of Technology Madras  
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cs;ehl;bNyNa cUthf;fg;gl;l Ez;nraypahd “MOUSHIK” vd;gij cUthf;fpa 
epWtdk; 
a. ,e;jpa mwptpay; epWtdk; 
b. ,e;jpa jfty;njhopy;El;g epWtdk;  
c. Njrpa njhopy;El;g epWtdk; 
d. ,e;jpa njhopy;El;g epWtdk;> nrd;id  

 
17. The “Abraham Accord” was a Peace agreement signed among 

a. Israel and Palestine  b. Israel, Jordan and Libiya 
c. Israel, Bahrain and UAE  d. Israel, Saudi Arabia and Palestine 
ve;nje;j ehLfspilNa “Mgpu`hk; xg;ge;jk;” vd;w mikjp xg;ge;jk; ifnaOj;jhdJ? 
a. ,];Nuy; kw;Wk; ghy];jPdk;   
b. ,];Nuy;> N[hu;lhd; kw;Wk; ypgpah 
c. ,];Nuy;> g`;iud; kw;Wk; UAE   
d. ,];Nuy;> rTjp mNugpah kw;Wk; ghy];jPdk; 

 
18. Consider the following statements 

I. 73rd session WHO-South East Asia Region - Thailand 
II. 27th ASEAN Regional Forum – Vietnam 
a. I correct  b. II correct  c. Both are correct  d. Both are incorrect 
gpd;tUk; $w;Wfis Ma;f. 
I. WHO - njd;fpof;F Mrpa gpuhe;jpa 73tJ mku;T – jha;yhe;J 
II. ASEAN gpuhe;jpa mikg;gpd; 27tJ $l;lk; - tpal;ehk; 
a. I rhp b. II rhp  c. ,uz;Lk; rhp  d. ,uz;Lk; jtW 
  

19. Recently which state introduced Mukhya Mantri Kisan Kalyan Yojana? 
a. Madhya Pradesh   b. Uttar Pradesh 
c. Maharashtra   d. Bihar 
rkPgj;jpy; Kf;fpa ke;jpup fprhd; fy;ahd; jpl;lj;ij mwpKfg;gLj;jpa khepyk; vJ? 
a. kj;jpa gpuNjrk;   b. cj;jpugpuNjrk; 
c. kfhuh~;buk;   d. gPfhh; 

 
20. Atal innovation mission launches Aatmanirbhar Bharat to Stimulate Applied Research in  

a. Information and Communication Technology 
b. mining, resources and energy 
c. micro, small and medium enterprises 
d. Telecommunication Industry 
gaDW Muha;r;rp Nkw;nfhs;tjw;F Mj;k epu;ghu; ghuj; vd;w jpl;lj;ij mly; Gj;jhf;f 
mikg;G ve;jj; Jiwapy; njhlq;fpAs;sJ 
a. jfty; kw;Wk; njhiyj;njhlu;G njhopy;El;gk; 
b. Ruq;fk;> tsq;fs; kw;Wk; Mw;wy; 
c. FW> rpW kw;Wk; eLj;ju njhopy;fs; 
d. njhiyj;njhlu;Gj; njhopy;  

 
21. PMK SAMPADA Yojana is related with 

a. Develop bovine breeds  b. To help street vendors   
c. To develop Fisheries sector d. None of these 
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PMK rk;ghlh jpl;lk; vjDld; njhlh;GilaJ? 
a. fhy;eil ,dq;fspd; Nkk;ghl;bw;fhf  
b. njUNthu tpw;gidahsh;fSf;F cjtpGhpa 
c. kPd;tsj;Jiwia Nkk;gLj;Jtjw;F 
d. ,it VJkpy;iy 

 
22. Match the following 

Person    Appointments 
A. Rajiv Kumar   1. NTRO 
B. Anil Dharmana   2. Election Commissioner 
C. P.D. Vaghela   3. FTII 
D. Shekhar Kapur   4. TRAI 
 A B C D 
a. 2 1 3 4 
b. 1 2 4 3 
c. 2 1 4 3 
d. 1 2 3 4 
gpd;tUgdtw;iwg; nghUj;Jf.   
egu;fs;     epakdq;fs; 
A. uh[Pt; Fkhu;                        1. NTRO  
B. mdpy; ju;khdh                   2. Nju;jy; Mizau; 
C.  P.D. tNfyh   3. FTII 
D. Nrfu; fG+u;   4. TRAI 

A B C D 
a. 2 1 3 4 
b. 1 2 4 3 
c. 2 1 4 3 
d. 1 2 3 4 

 
23. The official language of the Union Territory of Jammu and Kashmir includes 

a. Kashmiri, Dogri and Hindi   
b. Kashmiri, Urudu, and Dogri 
c. Kashmir, Urudu, Dogri and English  
d. Kashmiri, Dogri, Hindi, Urudu and English 
[k;K kw;wk; fh~;kPu; A+dpad; gpuNjr mYtyf nkhop cs;slf;FtJ  
a. fh~;kPup> Njhf;up kw;Wk; ,e;jp   
b. fh~;kPup> cUJ kw;Wk; Njhf;hp 
c. fh~;kPup> cUJ> Njhf;hp kw;Wk; Mq;fpyk;  
d. fh~;kPup> Njhf;hp> ,e;jp> cUJ kw;Wk; Mq;fpyk; 

 
24. Mission Karmayogi is related with 

a. Financial Reform   b. Educational Reform 
c. Civil Services Reform  d. Post COVID-19 Reform 
fh;kNahfp jpl;lk; vjDld; njhlh;GilaJ? 
a. epjp rPh;jpUj;jk;   b. fy;tp rPh;jpUj;jk; 
c. Fbikg;gzpfs; rPh;jpUj;jk; d. Nfhtpl;-19 gpe;ija rPh;jpUj;jk; 
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25. Tamilnadu Assembly Session was held recently in  
a. Kamarajar Arangam  b. Kalaivanar Arangam 
c. Anna Arivalayam   b. Valluvar Kottam 
rkPgj;jpy; jkpof rl;lrig $l;lk;; vq;F eilngw;wJ? 
a. fhkuh[h; muq;fk;   b. fiythzh; muq;fk; 
c. mz;zh mwpthyak;  d. ts;Sth; Nfhl;lk; 
 

26. The 24/7 toll-free helpline “KIRAN” provides support for people facing  
a. Bonded Labour   b. Mental Health and Suicide thought 
c. COVID-19    d. Children in difficult situation 
“KIRAN” vdg;gLk; 24/7 ,ytr cjtp vz; vjw;fhdJ? 
a. nfhj;jbikj; njhopyhsu;fs;  
b. kdeyk; kw;Wk; jw;nfhiyr; rpe;jid jLg;gpw;fhf 
c. nfhuhdh-19     
d. rpf;fyhd #o;epiyapYs;s Foe;ijfs; 

 
27. The Bilateral Maritime Exercise Indra Navy-20 was conducted between 

a. Russian and Indian Navy  b. Indian and American Navy 
c. Srilankan and Indian Navy  d. Indian and Japan Navy 
,e;jpuh vDk; ,Ujug;G fly; gapw;rp 2020 ve;j ,U ehLfSf;fpilNa eilngw;wJ? 
a. ,u~;ah kw;Wk; ,e;jpa flw;gil b. ,e;jpa kw;Wk; mnkhpf;f flw;gil 
c. ,yq;if kw;Wk; ,e;jpa flw;gil d. ,e;jpah kw;Wk; [g;ghd; flw;gil 

 
28. Which Village Panchayat of Tamil Nadu has won the National award recognizing the best-

administered Village Panchayats?  
a. Agasteeswaram, Kanyakumari District b. Vadipathi, Madurai District 
c. Andankoil (East), Karur District  d. Karamadai, Coimbatore District 
fpuhk gQ;rhaj;jpid rpwe;j Kiwapy; eph;thfk; nra;jikf;fhf jkpo;ehl;bd; ve;j fpuhk 
gQ;rhaj;J Njrpa tpUJ ngw;wJ? 
a. mfj;jP];tuk;> fd;dpahFkhp khtl;lk; 
b. thbgl;b> kJiu khtl;lk; 
c. Mz;lhd; Nfhapy; (fpof;F)> f&h; khtl;lk; 
d. fhukil> NfhaKj;J}h; khtl;lk; 

 
29. The Indira Gandhi Prize for Peace, Disarmament and Development for the year 2019 was 

conferred to 
a. Manmohan Singh   b. Louise Gluch 
c. Yoshihide Suga   d. Sir David Attenborough 
mikjp> MAjf;Fiwg;G kw;Wk; tsh;r;rpf;fhd 2019Mk; Mz;L ,e;jpuh fhe;jp ghprpid 
ngw;wth; ahh;? 
a. kd;Nkhfd; rpq;   b. Y}ap]; fpsr; 
c. Nahrpi`L Rfh   d. rh; Nltpl; ml;ld;NghNuh 
 

30. “A Promised Land” is the biography of 
a. Melania Trump  b. George W. Bush c. Bill Clinton  d. Barack Obama 
“A Promised Land” vd;gJ ahUila Rarhpij MFk;? 
a. nkydpah l;uk;g;  b. [hh;[; W. G~; c. gpy; fpspd;ld;  d. guhf; Xghkh 
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31. Match the following 
Personality   Date of Birth 
A. Sivaraj   1. 29.09.1892 
B. Adithanar   2. 27.09.1905 
C. V.O. Chidambaranar 3. 05.09.1872  
D. C.S. Chellappa  4. 29.09.1912 
 A B C D 
a. 4 2 3 1 
b. 2 3 1 4 
c. 1 2 3 4 
d. 1 4 3 2 
nghUj;Jf 
egh;fs;    gpwe;jehl;fs; 
A. rptuh[;   1. 29.09.1892 
B. Mjpj;jdhh;  2. 27.09.1905 
C. t.c. rpjk;gudhh;  3. 05.09.1872 
D. rp.R. nry;yg;gh  4. 29.09.1912 
 A B C D 
a. 4 2 3 1 
b. 2 3 1 4 
c. 1 2 3 4 
d. 1 4 3 2 
 

32. Saakshi Bhaav was written by 
a. Bhavana Somaaiya  b. Sashi Tharoor 
c. Pranab Mukerjee   d. Narendra Modi 
rhf;~p ght; - I vOjpath; _________ 
a. ghtdh Nrhika;ah  b. r~p j&h; 
c. gpudhg; Kfh;[p   d. eNue;jpu Nkhb 
 

33. Choose the correct statements with Reference to India INDEX, Rankings and Report 
1. Global Economic Freedom Index, India has been ranked at 105th  
2. In the World Bank’s Human Capital Index 2020 India has been ranked 116th 
3. In the World Freedom Index India Ranks at 142nd. 
a. 1, 2 and 4 are correct  b. 1, 3 and 4 are correct 
c. all are correct   d. all are incorrect 
FwpaPL kw;Wk; juthpir gl;baypy; ,e;jpahtpd; epiy nghWj;J gpd;tUtdtw;wpy; rhpahd 
$w;Wfis fhz;f 
1. cyf nghUshjhu Rje;jpu FwpaPl;by; ,e;jpah 105tJ ,lk; tfpf;fpwJ 
2. cyf tq;fpapd; kdpj %yjd FwpaPL 2020,y; ,e;jpah 116tJ ,lk; tfpf;fpwJ 
3. cyf Rje;jpu FwpaPl;by; ,e;jpah 142tJ ,lk; tfpf;fpwJ  
a. 1> 2 kw;Wk; 4 rhp   b. 1> 3 kw;Wk; 4 rhp 
c. midj;Jk; rhp   d. midj;Jk; jtW 

 
34. Which city is the host of the Shanghai Cooperation Organisation (SCO) Defence Ministers’ 

Meet? 
a. Tokyo  b.  Beijing  c. Moscow  d.  New Delhi  
~hq;fha; xj;Jiog;G mikg;gpd; ghJfhg;G mikr;rh;fs; $l;lk; ve;j efuj;jpy; eilngw;wJ? 
a. Nlhf;fpNah  b. nga;[pq;  c. kh];Nfh  d. GJ jpy;yp 
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35. What is India’s rank in the Global Innovation Index 2020? 
a. 18   b.  35   c.  48   d.  52 
cyfshtpa fz;Lgpbg;G ml;ltiz 2020,y; ,e;jpahtpd; epiy __________ 
a. 18   b.  35   c.  48   d.  52 

 

36. Which Indian state has topped the Ease of Doing Business Ranking for this year? 
a. Tamil Nadu b. Kerala  c. Andhra Pradesh  d. Telangana 
njhopy;Ghpa cfe;j efuq;fs; juthpirapy; Kjyplk; gpbj;j ,e;jpa khepyk; vJ? 
a. jkpo;ehL  b. Nfush  c. Me;jpugpuNjrk;  d. njYq;fhdh 

 

37. What is the name of the program to be attended by the Prime Minister of India, with Street 
Vendors from Madhya Pradesh? 
a.  Svanidhi Samvaad  b.  Svanidhi Speaks 
c.  Svanidhi Ki Baat   d.  Svanidhi Virtual 
kj;jpa gpuNjrj;jpd; njUNthu tpw;gidahsh;fsplk; gpujkh; Nkhb fye;Jnfhz;l epfo;r;rpapd; 
ngah; ahJ? 
a. ];thepjp rk;tj;   b. ];thepjp ];gPf;]; 
c. ];thepjp fp ghj;   d. ];thepjp tph;r;Rty; 

 
38. The current chair of G20 is held by 

a.  Saudi Arabia  b.  USA  c.  UAE   d.  Oman 
G20 ehLfspd; jw;Nghija jiyik nghWg;gpy; cs;s ehL __________ 
a. nrsjp mNugpah  b. mnkhpf;fh  c. If;fpa muG ehLfs; d. Xkd; 

 
39. What is the name of the hackathon launched by Indian council of agricultural research 

under National Agricultural Higher Education Project (NAHEP) to promote innovation in 
farm mechanization? 
a.  PRATIGYA b.  KRITAGYA c.  SAMYUGYA d. None of the above 
gz;iz ,ae;jpukakhf;fypy; GJikfis Nkk;gLj;Jtjw;fhf Njrpa Ntshz; cah; fy;tp 
jpl;lj;jpd; fPo; ,e;jpa Ntshz; Muha;r;rp fTd;rpy; njhlq;fpa jpl;lj;jpd; ngah; vd;d? 
a.  PRATIGYA b. KRITAGYA c.  SAMYUGYA d. ,it vJTkpy;iy 

 
40. Which Indian state is going to launch ‘Operation Durachari’ in order to keep a check on 

crime against women? 
a. Uttar Pradesh  b.  Bihar  c.  Rajasthan  d. Karnataka 
ngz;fSf;F vjpuhd Fw;wq;fis fz;fhzpf;f ‘MgNurd; Juhr;rhhp’ vd;w jpl;lj;ij 
njhlq;fpAs;s ,e;jpa khepyk; vJ/ 
a. cj;jpugpuNjrk;  b. gPfhh;  c. ,uh[];jhd; d. fh;ehlfh 

 
41. Which country hosted the Ministerial Roundtable Dialogue on Biodiversity in September 

2020? 
a.  India  b. China  c.  United States d.  Germany 
nrg;lk;gh; 2020,y; gy;Yaph; kPjhd mikr;rh;fspd; tl;lNkir khehl;bid elj;jpa ehL vJ? 
a. ,e;jpah  b. rPdh  c. mnkhpf;fh  d. n[h;kdp 

 
42. JIMEX is a maritime exercise between which two nations? 

a.  USA and UK    b.  India and Japan 
c.  India and Jamaica   d.  India and Russia 
JIMEX vDk; fly;rhh; gapw;rp ve;j ,U ehLfSf;fpilNaahdJ? 
a. mnkhpf;fh kw;Wk; ,q;fpyhe;J  b. ,e;jpah kw;Wk; [g;ghd; 
c. ,e;jpah kw;Wk; [ikf;fh  d. ,e;jpa kw;Wk; ,u~;ah 
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43. Which state has recently decided to provide food kits to transgender persons of the state? 
a. Uttar Pradesh b. Madhya Pradesh  c. Haryana  d. Kerala 
khepyj;jpy; cs;s %d;whk; ghypdj;jth;fSf;F czT nghUl;fis toq;Ftjw;F rkPgj;jpy; 
KbT nra;Js;s khepyk; vJ? 
a. cj;jpugpuNjrk; b. kj;jpagpuNjrk;  c. `hpahdh  d. Nfush 

 
44. Which State Topped Startups India Ranking 2020?  

a. Maharashtra  b.  Gujarat  c. Tamil Nadu d. Haryana 
];lhh;l;mg; ,e;jpah 2020 juthpir gl;baypy; Kjyplk; gpbj;Js;s khepyk; vJ? 
a. kfhuh~;buk;  b. F[uhj;  c. jkpo;ehL  d. `hpahdh 

 
45. Which of the following cities has got top position among Indian Cities in Global smart city 

Index 2020? 
 a. New Delhi  b. Mumbai  c. Hyderabad d. Bengaluru 

cyf nghypTW efu FwpapL 2020,y; ,e;jpa efuq;fspy; Kjyplk; gpbj;Js;s efuk; vJ? 
a. GJjpy;yp  b. Kk;ig  c. i`juhghj; d. ngq;f@U 

 
46. Indian Railways has planned more ‘Bullet Train’ projects on certain routes: 

I. Delhi – Varanasi (865 km) 
II. Mumbai – Nagpur (753 km) 
III. Delhi – Ahmedabad (886 km) 
IV. Chennai – Mysore (435 km) 
Correct Code is _ 
a. Only I and II b. Only I, II and III  c. I, II, III and IV  d. Only I  
gpd;tUk; ve;j topj;jlq;fspy; Nkyk; rpy ‘Gy;yl; ,uapy;fis’ ,af;f jpl;lkpl;Ls;sJ? 
I. nly;yp – thuzhrp (865 fp.kP) 
II. Kk;ig – ehf;g+h; (753 fp.kP) 
III. nly;yp – mfkjhghj; (886 fp.kP) 
IV. nrd;id – ik#h; (435 fp.kP) 
a. I kw;Wk; II  b. I, II kw;Wk; III  c. I, II, III kw;Wk; IV  d. I kl;Lk; 

 
47. Which of the following is South India’s First Kisan Rail? 

a. Devlali – Danapur Kisan Rail  
b. Anantpur – Adarsh Nagar Kisan Rail 
c. Yashwanatpur – Ajmer Kisan Rail 
d. Bhatainda – Bhopal Kisan Rail 
gpd;tUtdtw;wpy; vJ njd;dpe;jpahtpd; Kjy; fprhd; ,uapy;? 
a. Njt;yhyp – jhdhg;g+h; fprhd; ,uapy; 
b. mde;j;g+h; - Mjh;~; efh; fprhd; ,uapy; 
c. a~;tdhj;g+h; - m[;kPh; fprhd; ,uapy; 
d. ghild;jh – Nghghy; fprhd; ,uapy; 

 
48. Consider the following statements 

I. Justice P. Kalaiyarasan committee recommended for 7.5% internal reservation for 
Government School Student in Medical admissions through NEET in Tamilnadu 

II. Tamilnadu assembly passed a resolution for 7.5% internal reservation to government 
students on 16th September  

a. I only correct b. II only correct c. Both are correct  d. Both are incorrect 
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gpd;tUk; $w;Wfis Ma;f 
I. jkpo;ehl;by; ePl; Njh;T vOjp Njh;thFk; khzth;fSf;F kUj;Jt fy;Y}p Nrh;f;ifapy; 

7.5% cs; ,lxJf;fPl;il ePjpaurh; P. fiyaurd; FO ghpe;Jiu nra;jJ.  
II. nrg;lk;gh; 16Mk; Njjp muR khzth;fSf;F 7.5% cs; ,lxJf;fPL toq;Ftjw;fhd 

jPh;khdj;ij jkpo;ehL rl;lkd;wk; epiwNtw;wpaJ 
a. I kl;Lk; rhp b. II kl;Lk; rhp c. ,uz;Lk; rhp d. ,uz;Lk; jtW 
 

49. Who is India’s first woman ambulance driver? 
a. M. Dhanalakshmi  b. M. Veeralakshmi 
c. M. Varalakshmi  d. M. Mahalakshmi 
,e;jpahtpd; Kjy; kUj;Jt Ch;jp Xl;Leh; ahh;? 
a. M. jdyl;Rkp  b. M. tPuyl;Rkp 
c. M. tuyl;Rkp  d. M. kfhyl;Rkp 
 

50. World Heart Day is on 
a. September 27 b. September 28 c. September 29 d. September 30 
cyf ,ja jpdk; _______ 
a. nrg;lk;gh; 27 b. nrg;lk;gh; 28 c. nrg;lk;gh; 29 d. nrg;lk;gh; 30 
 

51. How many National Awards was received by Playback Singer S.P. Balasubramaniam? 
a. 5  b. 7  c. 6  d. 8 
gpd;dzp ghlfh; v];.gp. ghyRg;gpukzpak; vj;jid Kiw Njrpa tpUJfs; ngw;Ws;shh;? 
a. 5  b. 7  c. 6  d. 8 
 

52. Pranab Mukerjee was India’s _______ President 
a. 12th  b. 13th  c. 14th  d. 11th 
gpudhg; Kfh;[p ,e;jpahtpd; ______ FbauR jiyth; 
a. 12tJ b. 13tJ c. 14tJ d. 11tJ 
 

53. Consider the following statements 
I. Flight Lieutenant Shivangi Singh is the Rafale squadron's first woman fighter pilot 
II. Sub. Lieutenant Kumudini Tyagi and Sub. Lieutenant Riti Singh have become the 

first ever women airborne combatants of the Indian navy to Operate helicopters from 
the deck of Warships. 

a. I only correct  b. II only correct c. Both are correct d. Both are incorrect 
gpd;tUk; $w;Wfis ma;f 
I. rpthq;fp rpq; ,e;jpahtpd; Kjy; ngz; u/Ngy; Nghh; tpkhdpahthh; 
II. flw;gilapy; gzpahw;wp tUk; Jiz nyg;bdd;l; FKjpdp jpahfp> Jiz nyg;bdd;l; 

upjp rpq; Mfpa 2 ngz; mjpfhupfs; Kjy;Kiwahf Nghu;f;fg;gy;fspy; ,Ue;J 
flw;gil n`ypfhg;lu;fis ,af;Ftjw;F Nju;T nra;ag;gl;Ls;sdu;. 

a. I kl;Lk; rhp  b. II kl;Lk; rhp c. ,uz;Lk; rhp d. ,uz;Lk; jtW 
 

54. Find out the incorrect statement 
a. “Snow Leopard” - Ang Rita Sherpa  
b. Father of India’s Radio Astronomy - Govind Swarup  
c. First woman justice of the Supreme Court of USA - Ruther Bader Ginsburg  
a. Prime Minister of Lebanon - Mustapha Adib 
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jtwhd $w;iwf; fhz;f 
a. gdpr;rpWj;ij – Mq; hpl;lh n~h;gh 
b. ,e;jpa thndhyp thdpay; je;ij – Nfhtpe;j; ];t&g; 
c. mnkhpf;f cr;rePjpkd;wj;jpd; Kjy; ngz; ePjpaurp - &jh; Nglh; fpd;];gh;f; 
d. nygdhd; gpujkh; - K];jgh mjpg; 

 
55. Name the state which introduced Electronic hardware manufacturing policy recently  

a. Maharashtra  b. Uttar Pradesh  c. Karnataka  d. Tamilnadu 
rkPgj;jpy; kpd;dZ td;nghUs; cw;gj;jp nfhs;ifia mwpKfg;gLj;jpa khepyk; vJ? 
a. kfhuh~;buk;  b. cj;jpugpuNjrk;  c. fh;ehlfk;  d. jkpo;ehL 
 

56. World’s Largest Solar Tree is in 
a. West Bengal b. Tamilnadu  c. Gujarat  d. Uttarakhand   
cyfpd; kpfg;nghpa #hpa Mw;wy; cw;gj;jp kuk; mike;Js;s ,lk; 
a. Nkw;F tq;fk; b. jkpo;ehL  c. F[uhj;  d. cj;jufhz;l; 
 

57. According to the India state of Forests Report, 2019 India’s Total Forest Cover is 
a. 21.57%  b. 21.67%  c. 20.67%  d. 19.67% 

 ,e;jpa khepy td mwpf;if 2019,d;gb ,e;jpahtpy; nkhj;j fhLfs; gug;G 
a. 21.57%  b. 21.67%  c. 20.67%  d. 19.67% 

 
58. Match the following 

Beaches   Located at 
A. Ghoghla    1. Andaman and Nicobar  
B. Kasarkod    2. Andhra Pradesh  
C. Rushikonda   3. Karnataka  
D. Radhanagar   4. Daman & Diu  
 A B C D 
a. 4 3 2 1 
b. 4 3 1 2 
c. 1 2 3 4 
d. 2 3 1 4 
nghUj;Jf 
flw;fiufs;   mike;Js;s ,lk; 
A. Nfhf;yh   1. me;jkhd; epf;Nfhghh; 
B. fhrh;Nfhl;   2. Me;jpugpuNjrk; 
C. UrpNfhz;lh  3. fh;ehlfk; 
D. uhjhefh;   4. lhkd; kw;Wk; ila+ 
 A B C D 
a. 4 3 2 1 
b. 4 3 1 2 
c. 1 2 3 4 
d. 2 3 1 4 
 

59. Which ship is called as Grand old lady of Indian Navy? 
a. INS Viraat  b. INS Vikrant c. INS Kalvari d. INS Arihant 
,e;jpa flw;gilapd; KJngUk; ngz; vd miof;fg;gLk; fg;gy; vJ? 
a. INS tPuhl;  b. INS tpf;uhe;j; c. INS fy;thhp d. INS mhp`e;j; 
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60. Consider the following statements 
I. DRDO conducted successful flight test of ABHYAS – high speed expandable Aerial 

Target (HEAT) from the Interim test range Balasore, Odisha.  
II. FDI Limit in Defence through Automatic Route raised to 100% 
a. I only correct  b. II only correct c. Both are correct d. Both are incorrect 
gpd;tUk; $w;Wfis Ma;f 
I. tphpTgLj;jg;gl;l mjpfNtf thd;top ,yf;fhd ABHYAS tpkhd Nrhjidia 

DRDO ,ilg;gl;l njhiyT Nrhjid ikakhd xbrhtpd; gy#hpy; ntw;wpfukhf 
elj;jpaJ 

II. jhdpaq;fp Kiwapy; ghJfhg;Gj; Jiwapy; me;epa Neub KjyPL 100% Mf 
cah;j;jg;gl;Ls;sJ 

a. I kl;Lk; rhp  b. II kl;Lk; rhp c. ,uz;Lk; rhp d. ,uz;Lk; jtW 
 

61. A sum of money invested at simple interest triples itself in 8 years. How many times will it 
become in 20 years time? 
a. 7 times   b. 6 times   c. 8 times   d. 9 times  
xU Fwpg;gpl;l njhifahdJ jdptl;b tPjj;jpy; 8 – Mz;Lfspy; Kk;klq;fhfpwJ vdpy; 20 
Mz;Lfspy; mj;njhif vj;jid klq;fhf khWk;.  
a. 7 times   b. 6 times   c. 8 times   d. 9 times  

 

62. The simple interest on a certain sum at 5% for 9 months is `10 greater than the simple 
interest on the same sum at the rate of 3% for 14 months. What is the sum of interest in both 
the cases? 
a. 290   b. 320   c. 420   d. 370 
xU Fwpg;gpl;l njhifahdJ jdptl;b Kiwapy; 5% tl;btPjj;jpy; 9 khjq;fSf;F fpilf;Fk; 
jdptl;bahdJ mNj njhif 3% tl;btPjj;jpy; 14 khjq;fspy; fpilf;Fk; jdptl;bia tpl 
&.10 mjpfk; vdpy; ,uz;L tl;bnjhifapd; $Ljy; vt;tsT?  
a. 290   b. 320   c. 420   d. 370 

 

63. In 4 years, the simple interest on a certain sum of money is 7/25 of the principal. The 
annual rate of interest is 
a. 5%   b. 6%  c. 7%   d. 8% 
xU njhif 4 – Mz;Lfspy; jdptl;b tPjj;jpy; mjd; mrypy; 7/25 gq;F tl;b fpilf;fpwJ 
vdpy; Mz;L tl;btPjk; fhz;f.  
a. 5%   b. 6%  c. 7%   d. 8% 

 

64. The simple interest on a sum of money is one-ninth of the sum. The number of years is 
numerically equal to the rate percent per annum. The rate of interest is. 

a. 13 %
2

  b. 12 %
2

  c. 14 %
2

  d. 15 %
2

 

xU Fwpg;gpl;l mrypd; jdptl;bahdJ mrypy; 9-y; 1 – gq;F MFk;. NkYk; Mz;LfSk;> 
mjd; tl;btPjKk; vz;zstpy; rkk; vdpy; tl;b tPjj;ij fhz;f.  

a. 13 %
2

  b. 12 %
2

  c. 14 %
2

  d. 15 %
2

 
 

65. ‘A’ borrowed a sum of money from ‘B’ at the rate of 8% per annum simple interest of the 
first 4 years, 10% per annum for the next 6 years and 12% per annum for the period beyond 
10 years. If ‘A’ pays a total of `12160 as interest only at the end of 15 years, how much 
money did he borrow? 
a. 9000  b. 10000  c. 8000  d. 7000 
A vd;gth; xU Fwpg;gpl;l njhifia B – aplkpUe;J jdptl;b tPjj;jpy; Kjy; 4 
Mz;LfSf;F 8% tl;btPjj;jpYk;> mLj;j 6 Mz;LfSf;F 10% tl;btPj;jjpYk;> 10 
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Mz;LfSf;F Nky; 12% tl;btPjj;jpy; fld; ngWfpwhh;. NkYk; mth; 15 Mz;LfSf;fhd 
tl;b kl;Lk; & 12160 nrYj;Jfpwhh; vdpy; mth; fld; ngw;w njhif vt;tsT?  

a. 9000  b. 10000  c. 8000  d. 7000 
 

66. A man invested one-third of his capital at 7%, one-fourth at 8% and the remainder at 10% at 
simple interest, If his annual income is ` 561, the capitals is. 
a. 6500  b. 6600  c. 7000  d. 7600  
xU egh; jd;Dila mrypy; 3-y; 1 gq;F 7% jdptl;btPjj;jpYk;> 4-y; 1 gq;F  8% kw;Wk; 
kPjpia 10% jdptl;b tPjj;jpy; nfhLf;fpwhh;. ,jdhy; mth; ngWk; tUkhdk; ì 561 vdpy; 
mry; vt;tsT?  
a. 6500  b. 6600  c. 7000  d. 7600  

 

67. In 4 years, ` 6000 amounts to ` 8000. In what time at the same rate will `525 amounts to ` 
700? 
a. 5   b. 2   c. 3   d. 4 
4 Mz;Lfspy; ₹6000 MdJ ₹8000 khWfpwJ vdpy; mNj tl;b tPjj;jpy; 525 MdJ 700 
khWtjw;F MFk; fhyk; fhz;f?  
a. 5   b. 2   c. 3   d. 4 

      
68. Two equal sums were borrowed at 8% simple interest per annum for 2 years and 3 years 

respectively. The difference in the interests was ` 56. The sums borrowed were. 
a. 700   b. 800   c. 690   d. 720  
,uz;L rkkhd njhifia> 8% jdptl;b tPjj;jpy; KiwNa 2 Mz;Lfs;> 3 Mz;LfSf;F 
fld; ngWfpwhh;. tl;b tpjj;jpahrk; ₹56 vdpy; fld; ngw;w njhif vt;tsT?  
a. 700   b. 800   c. 690   d. 720  

 
69. A sum was put at simple interest at a certain rate for 3 years. Had it been put at 1% higher 

rate, it would have fetched ` 5100 more. The sum is 
a. 150000  b. 170000  c. 160000  d. 180000 
xU Fwpg;gpl;l mryhdJ jdptl;b tPjj;jpy;  3 Mz;LfSf;F nrYj;jg;gLfpwJ. NkYk; 
tl;btPjk; 1% cah;jpdhy; tl;bahdJ 5100 mjpfk; fpilf;fpwJ vdpy; mry; vt;tsT?  
a. 150000  b. 170000  c. 160000  d. 180000 

 
70. In what time will a sum of money double itself @ 20% per annum simple interest? 

a. 4   b. 7   c. 6   d. 5 
xU mryhdJ> Fwpg;gpl;l fhyj;jpy; 20% jdptl;b tPjj;jpy;> ,Uklq;fhfpwJ vdpy; fhyk; 
fhz;f?  
a. 4   b. 7   c. 6   d. 5 
 

71. A sum of money at compound interest doubles itself in 15 years. It will become eight times 
of itself in 
a. 40   b. 45  c. 35   d. 30 
$l;L tl;bapy; Fwpg;gpl;l njhifahdJ 15 tUlq;fspy; ,Uklq;fhfpwJ vdpy; vl;L 
klq;fhf khw vj;jid Mz;LfshFk;.  
a. 40   b. 45  c. 35   d. 30 

 
72. The difference between compound interest and simple interest at the same rate ` 5000 for 2 

years is ` 72. The rate of interest per annum is. 
a. 12%   b. 14%  c. 11%  d. 10%  
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&gha; 5000 njhifia Fwpg;gpl;l rjtPj tl;b tPjj;jpy;> 2 Mz;LfSf;F nfhLf;Fk;nghOJ 
jdptl;bf;Fk;> $l;Ltl;bf;Fk; cs;s NtWghL 72 vdpy; tl;b tPjk; vt;tsT?  
a. 12%   b. 14%  c. 11%  d. 10%  

 
73. The ratio of the amount for two years under Compound Interest annually and for one year 

under Simple Interest is 6:5. When the ratio of interest in same, then the value of the rate of 
interest is 
a. 18%  b. 17%  c. 20%  d. 15%  
tl;b tpfpjk; rkkhf ,Uf;Fk;NghJ ,uz;L Mz;Lf;fhd $l;Ltl;b njhiff;Fk; Xh; 
Mz;Lf;fhd jdptl;b njhiff;Fk; cs;s tpfpjk; 6 : 5 vdpy; tl;b tPjk; vt;tsT?  
a. 18%  b. 17%  c. 20%  d. 15%  

  
74. A tree was planted three years ago. The rate of its growth is 30% per annum. If at present, 

the height of the tree is 670cm. What was it when the tree was planted? 
a. 305   b. 350   c. 360  d. 380  
xU kuk; %d;W Mz;LfSf;F Kd;G elg;gLfpwJ. mjd; tsh;r;rp Mz;Lf;F 30% tsh;fpwJ. 
kuj;jpd; jw;Nghija cauk; 670 nr.kP  vdpy; kuk; eLk;nghOJ ,Ue;j cauk; vt;tsT?  
a. 305   b. 350   c. 360  d. 380  

 
75. The population of a village is 10000. If the population increases by 10% in the first year, by 

20% in the second year and due to mass exodus, it decreases by 5% in the third year, what 
will be its population after 3 years? 
a. 12500  b. 14000  c. 12540  d. 12000 
xU fpuhkj;jpd; kf;fs; njhif 10000 MFk;. Kjyhk; Mz;by; 10%, ,uz;lhk;; Mz;by; 
20% mjpfhpf;fpwJ. NkYk; ,lngah;T fhuzkhf %d;whkhz;by; 5% FiwfpwJ vdpy; 
%d;W Mz;Lfs; Kbtpy; kf;fs; njhif vt;tsT?  
a. 12500  b. 14000  c. 12540  d. 12000 

 
76. Mr. ‘A’ earns an amount of ` 1656 for the third year and ` 1440 for the second year on the 

same sum. Find the rate of interest if it is lent at compound interest. 
a. 13%   b. 12%  c. 15%  d. 20%  
A vd;gth; Fwpg;gpl;l njhifia $l;Ltl;b Kiwapy; nrYj;jp mjd; %yk; %d;whkhz;by; 
& 1656 k;> ,uz;lhkhz;by; & 1440 k; njhifahf ngWfpwhh; vdpy; tl;btPjk; fhz;f?  
a. 13%   b. 12%  c. 15%  d. 20%  

 
77. A scooter costs ` 25,000 when it is brand new. At the end of each year, its value is only 80% 

of what it was at the beginning of the year. What is the value of the scooter at the end of 3 
years? 
a. 12800  b. 13000  c. 14200  d. 15000 
xU Gjpa Nkhl;lhh; tz;bapd; kjpg;G ₹25000 xt;nthU Mz;bd; Kbtpy;> mjd; kjpg;G 80 
rjtPjkhf FiwfpwJ vdpy; 3-k; Mz;L Kbtpy; tz;bapd; kjpg;G fhz;f.  

a. 12800  b. 13000  c. 14200  d. 15000 
 
78. If the population of a town at present is 10648 and the rate of increment is 10% per year. 

What was the population before 3 years? 
a. 8000  b. 7000  c. 9000  d. 8500  
xU efuj;jpd; jw;Nghija kf;fs; njhif 10648. ,J Mz;Lf;F 10% mjpfhpg;G vdpy; 
%d;whz;Lf;F Kd; ,Ue;j kf;fs;njhif vt;tsT?  
a. 8000  b. 7000  c. 9000  d. 8500  
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79. The compound interest on ì  2800 for 18 months at 10% P.A is  
a. 324   b. 524   c. 434   d. 234   
ì 2800 f;F Mz;Lf;F 10% $l;L tl;b tPjj;jpy; 18 kjq;fSf;fhd $l;Ltl;b fhz;f.  
a. 324   b. 524   c. 434    d. 234   

 
80.  At what rate percent compound interest does a sum of money become nine fold in 2 years?  

a. 200%  b. 150%   c. 180%  d. 90%  
xU njhif 2 Mz;Lfspy; xd;gJ klq;fhf khw vt;tsT rjtPjk; $l;Ltl;b tPjj;jpy; 
nfhLf;f Ntz;Lk;?  
a. 200%  b. 150%   c. 180%  d. 90%  

 
81. V, VIII, XI, XIV, XVII, ______ , XXIII  

a. XII   b. IX   c. XX   d. XVII 
 
82. 5040, 720, 120, 24, _____, 2.  

a. 6   b. 7  c. 8   d. 9 
 
83. 49, 121, 169, 289, ______, 529  

a. 431   b. 189   c. 361   d. 383  
  
84. 3, 9, 10, 30, 31 ____?  

a. 93   b. 51   c. 61   d. 72 
  

85. What is the next letter in the series. B, D, G, K, P, ______?  
a. V   b. S    c. Y    d. t  
mLj;j vOj;ij fz;Lgpb. B, D, G, K, P, _________?  
a. V   b. S    c. Y    d. t  

 

86. 63, 66, 71, 78, 87 ______?  
a. 108   b. 88    c. 96   d. 98 

  

87. 6, 15, 35, 77, 143, _______, 323 
a. 176   b. 221   c. 187   d. 225 

 

88. 
120 60 40 30 24

, , , ,
120 120 120 120 120

 ______?  

a. 
10

120
  b. 

20

120
  c. 8

120
  d. 15

120
 

 

89. b, c, d, f, g, h, j, k, l, m, n, _____?  
a. o   b. p   c. q   d. m  
 

90. 12, 6, 6, 9, 18, 45, _________. 
a. 105   b. 135   c. 1475  d. 1075  

 

91. If a clock strikes appropriate numbers of times at each hour, how many times will it strike 
in a day  
a. 156   b. 124   c. 140  d. 152  
xU Rth; fbfhuk; xt;nthU kzp Neuj;jpw;Fk; kzpf;Nfw;wthW rj;jkpLfpwJ vdpy; xU 
ehspy; vj;jid Kiw rj;jkpLk;.  
a. 156   b. 124   c. 140  d. 152  
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92. If 12 + 22 + 32 + ....... + 102 = 385, then 32 + 62 + 92 + ...... + 302 is equal to  
a. 2485    b. 4475   c. 3465  d. 3575  
12 + 22 + 32 + ....... + 102 = 385, vdpy; 32 + 62 + 92 + ...... + 302 d; kjpg;G   
a. 2485    b. 4475   c. 3465  d. 3575  

 
93. 142 + 152 + .... + 302 is equal to  

142 + 152 + ....302 f;F rkkhd kjpg;G  
a. 6386   b. 6863  c. 8636  d. 3863 

 

94. 
2 3 4

2 3 2 3
......

5 5 5 5
+ + + +   

a. 13
24

  b. 17
24

  c. 15
24

  d. 11
24

 

 

95. For what value of x, the numbers 72 , ,
7 2

x −− are in G.P? 

a. 1, -2  b. 1, -3,   c. 1, -1   d. 1, -5  

ngUf;F njhlh; thpirapy; cs;s njhlhpy; x d; kjpg;G fhz;f. 72 , ,
7 2

x −−  

a. 1, -2  b. 1, -3,   c. 1, -1   d. 1, -5  
 
96. Find the number of terms in the A.P. 22, 28, 34, ...... 616  

a. 99   b. 80   c. 78  d. 100  
gpd;tUk; $l;Lnjhlh; thpirapy; cs;s vz;fs; vt;tsT? njhlh; 22, 28, 34, ...... 616. 
a. 99   b. 80   c. 78  d. 100  

 

97. The first and last terms of an A.P. are -7 and 233 and the sum AP is 9153. find the number of 
terms in the A.P. 
a. 81    b. 99   c. 49   d. 83 
xU $l;Lj;njhlh; thpirapy; cs;s Kjy; kw;Wk; filrp vz;fs; KiwNa -7 kw;Wk; 233 
mjd; $Ljy; 9153 vdpy; mt;thpirapy; cs;s vz;fs; (vj;jid) vt;tsT?  
a. 81    b. 99   c. 49   d. 83 

 

98. The A.M. of two positive numbers is 15 and their G.M. is 12. what is the smaller number?  
a. 6   b. 8   c. 12  d. 24  
,uz;L vz;fspd; $l;L ruhrhp 15> ngUf;F ruhrhp 12 vdpy; ,uz;L vz;fspy; rpwpa vz; 
ahJ?  
a. 6   b. 8   c. 12  d. 24  

 

99. Find the sum of the first hundred even natural numbers divisible by 5.  
a. 50500  b. 55000  c. 50050   d. 50050  
5-My; tFgLk; Kjy; 100 ,ul;il vz;fspd; $Ljy; fhz;f.  
a. 50500  b. 55000  c. 50050   d. 50050  
 

100. If you save Rs 1 today Rs 2 the next day, Rs 3 the succeeding day and so on. What will be 
your total saving in 365 dyas.  
a. 66795   b. 66579   c. 56795  d. 76595 
ePq;fs; ,d;W & 1 ehis & 2 ehis kWehs; & 3 vd njhlh;r;rpahf 365 ehl;fSf;f 
Nrkpj;jhy; filrpapy; ePq;fs; ngWk; njhif vt;tsT?  
a. 66795   b. 66579   c. 56795  d. 76595 

 


